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Here we don’t fit to the high region where the signal is not as high above the background.

[image: image4.png]1000-

counts minus bkg

Auto Fit For. Data

¥ =AexpLCxp+B
A 1594003 +/- 809
B 245 +/- 102
€034 +1- 00448
RMSE: 20.0

‘Setcounts minus bkg

(1.2167, 545 6)

10

2

0 30

time (us)

40




This graph is with a bkg subtraction of 400 instead of the estimated 450.  There is a difference.

[image: image5.png]Freequency of Count:

(1541667, 7.0600)




Coincidence graph of scintillators A and B.  Threshhold A is fixed at 67.749 mV and Threshhold B is varied.
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coincidence of A and B; threshold B fixed at __________; threshold A is varied
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scintillators B and C: B fixed at __________; C varied
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Scintillator A
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Scintillator B
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Scintillator C
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Scintillator D
[image: image12.png]15

swnog jo Aausnbaeiy

150

100

Threshhold Setting (mV)

(90.0000, 7.0232)




Adjusting scintillator C discriminator threshold keeping B fixed
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Scintillator C, singles

